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SR%w N3 say with a 1197 — TI9T2 2N INRW N2

OVERVIEW
There is a 19 in N7y ndon which is devoted to listing all the npyonn

between 71"21 ¥"2 where w"2 are lenient and 77"2 are stringent (the opposite of
what we are accustomed to). Our NP?An concerning VMDY 17 is also
mentioned there as one of the "2 >ImM w"2 "9, NMdOIN here discusses the
appropriateness of that inclusion.

— '9hn 1% 592N INNY N3 91D 33 %Y 53N (1 mwn 1 pas) IPTY NIDNA
In ny>7y noon this mwn is taught among the lenient rulings of w''2 and the
stringent rulings of 7'"'2. If a woman received w17 money valued at a 71D or
more but less than a 717, then according to 7"2 she is a married woman and will be liable
for the death penalty if she has relations with other men; while according to "3, she is
still an unwed woman, and will not receive the death penalty for having relations with
other men. This is the reason why it is mentioned as one of the 7"2 *m w"2 *2p.

mooIn anticipates a difficulty:
— NIDINY INNPY 553 NN INNRN PYITP NHAP INT 2) DY 9N)

And even though if this woman (who already received 1w17p [for a 70179 or
more but less than a 11°7]), received additional 272 (for a 71°7 or more)
from another man besides the first 1217p [and the original w7pn died?], then
w''2 will be stricter; for according to w"a since the original w177 were meaningless
(since they were less than a 71°7), she is now 2% nwmpn [and will be 7n° 27 if she is
mtn], however according to 71"2 the original w177 are valid (since they were a 7v179) and
the second w17°p are meaningless (and since the first w7pn died the woman is now a
7"19) and she is not liable 7n°n 211 for mar. It is therefore possible that w"2 is XM7% and
1"2is X7p2; why therefore does the 73wn in N1*7v consider this NP2 as A w"12 "pn
7"a21?

mooIn responds:

—9unm »9nY INY M)
However the question never arose in regard to this aforementioned situation
where nR» PWI1TR 192p; rather the dispute of 7" w"2 was in a case where she was 72pn
Tw17P from only one person (for the value of a Y175 or more, but less that a 71°7), where

! Superficially one might have thought that "2 are <"»mn for they require more money for the w17 to be
effective; however the true X711 X021 is the w X nwX status of the woman after receiving 1w17°p (there is no
real X117 if the woman is not nw7Pn). See [however] ‘Thinking it over’ # 2.

% This is how it is explained in w"R77 Moo, See 11"1X (for additional comments).

? See: “Thinking it over’ # 1.
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v"a states she is not nwTPn which is a X7p, and 73"2 ruled that she is nwTpn which is a
X1 (if she will be 7am).

mooIN supports his view that we can limit the scope of a np1onn:

%1920 791 MY *Pavy “DIUNN 99 (3,9 97 K12 139NTS
As the X773 states in 822 noon ‘the question was raised concerning a large
person similar to Jwam To% Mp’.

SUMMARY

The qualification of being included in the nviwn of 7"a " mm w"a P
depends on which specific case was being disputed (but not on all its
ramifications).

THINKING IT OVER

1. noown asks that our nP?nn should not be included 7"2 M w"a “7pa
since by ankn PYTR 722 then n"a is XMP?. However since there are
situations (when she was not IX» Pw1TR 792p) where w"2 is 90, therefore
the X1n in N7y wanted to mention it; what is the difficulty?!’

2. Why can we not say that when Mo0In states 17 INRA PYITR 772 OXT 3"YR)
X212 w"2, he means that it will be a X mn for the initial wpn, for he
intended to marry this woman and now she is taken away from him?

* The xm there cites a npYonn between 1"21 w"a what is the minimum amount of drink forbidden on a1
719°2. w"2 maintain a n°¥°27 and 7"2 state 1°"N? X910 (a cheek full) which is [usually] less than a n%w>27. The
X713 asks ‘why is this argument not included among the 7"2 v m w"2 *7p (since if one drinks 107 X913
[but less than a n°v*27] he will be 7"2% 21 but w"2? Mwvo). The X3 answered that the dispute between 2"a
7"2) was concerning a giant person (like 2¥) whose 132 X277 is more than a n°v*27, so in this instance,
where the discussion took place, "2 was 7°pn and w2 is 9°nnn (since a n°v>27 is less than this 1237 Ro»).

> It is evident from that X% that when we are discussing NpY2m» between 7" w'"a concerning who is 2
and who is 9%, it is important to know in which case the np12nn took place and that alone determines
whether it can be considered 77"2 »mMM w"1 PR, even though other ramifications of their dispute may
lead us to different conclusions.

% It would seem that this proof takes the form of a w"2. The simple assumption there would be that their
dispute is in a regular case (not concerning a giant like 2v) and nevertheless the X3 excludes it w"a *7pn
151 because we argue that it was 2 11¥% 2wn°X (an uncommon situation), then certainly in our case where
common sense tells us that they are arguing concerning one set of 1177 and not two acts of 117 (and [in
addition] where the first wTpn died!), then certainly it fits into the 7"2 *m w"2 7p.

! See X"y awa 252 7w a"AR.
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